SOLSTICE |

Product drawing LLUNIMR-

GGGGGGGG




SOLSTICE |

A32 Base-180° LPCS

A32 Base-90° -left 2PCS  A32 Base-90° -right 2PCS

(7

A32 Connector-50° 4PCS  A32 Connector-50° left 2PCS

?’;

A32 Connector-50° right 2PCS

AN

e

5

SO

A32 Connector-50° 2PCS A32 Connector-100° 4PCS  A32 Edge connector-100° 8PCS 70 Member-690 8PCS
/
& Q
$90 Member-800-up 2PCS $90 Member-800-below 2PCS plate-2440%20 LPCS

N

$90 Member-1800-up 2PCS 90 Member-1800-below 2PCS plafe-2150+20 4PCS

Material Details

)

Name Size (M) Quantity (PCS)

Member- ¢ 90%1995 $90%1995 4
Guardrail member-®90%1995 ¢ 90%1995 4
Member- ¢ 90%2400 ¢ 90%2400 3
Member- ¢ 90%2500 ¢ 90%2500 4
Member- ¢ 90%2600 b 90%2600 3
Member- ¢ 90%2667 ¢ 90%2667 2
Member- ¢ 90%3200 ¢ 90%3200 3
Member- ¢ 90%3350 ¢ 90%3350 8
Circular tube- ¢ 16%1655 b 16%1655 4
Circular tube- ¢ 1642400 G 16%2400 6
Circular tube-¢ 1642610 b 1642610 4

LN

GLAMPING




SOLSTICE |

Material Details

A32-45%1m Tarpaulin 1PCS

A32-45+7m Inner tarpaulin 1PCS

LN

GLAMPING




SOLSTICE |

A32 Base-90° -right

A32 Base-180° A32 Base-180°

A32 Base-90° -left

Code “AA20” \ Code “M1T” S Code “MIT” | Code “AA19”
N — — K — — R )
o o(?y
= )
|
|
A32 Base-180° A32 Base-180° §
Code “MIT" | Code “MIT" | |
! i _ _ S _ _ e E%ﬁ
2600 2600 1800 o
A32 Base-90° -left /= - = =\ A32 Base-90" -right
Code “AA19” ~ 100 - Code 1207
B0
180
' (0 (o] (o] )
2“ 2 A A Self tapping screw M6*40
| N °<%%D
MEY . Expansion bolt NIZ120

Foundation positioning diagram

Foundation fixing diagram

LLUNIR-

GLAMPING




SOLSTICE |

A32 Connector-100°

/\ / Code “AA25”

Member— ¢ 90%3350

Code “AA13<"

A32 Connector-50° right
Code “AA23”

A32 Edge connector-100°
Code “AA26”

\ Member- & 90%1995

Code “AA0G<"

-+ B

i
9
S
A32 Connector-50° |eft
Code “AA22”
SR ESNYS \
S ]
< | o |
1
- - 4410 _
=
Y Y R Y |
A32 Base-90° —left /L 4500

=K A32 Base-90° -right

Code “AA19” , _
Installation diagram of frame 1

M10%110 bolts and nuts

Frame

installation Connection diagram

Code “AA20”

LLUNIR-

GLAMPING




SOLSTICE |

M10%110 bolts and nuts

Connection diagram

/3

o

Frame installation I_ l—l N F‘?’

GLAMPING




SOLSTICE |

$90 cover plafe

7

®90 cover plate
ES

A32 Connector-100°
Code “AA25”

M10%110 bolts and nut

gmber— § 90%3200
Code “AAI2<"

090 [cover plate Member- ¢ 90%2500 % N
ﬁ Code “AAQ9<" g Connection diagram

e
@%“( Member- 9043350
Code “AA13<"
@,

Q?l, .
A32 Connector-50°

§ N, Code “M247

%:g
ﬁ [=007%

A32 Edge connector-100°
Code “AA26” %

&
\ Member— d 90%1995

Code “AA0G<"

Member- ¢ 90%3200
Code “AA12<"

~ 00T

o

[.Af( [

700 %

o

%’0

)
S

Frame installation I_ I—l N F.?-’

GLAMPING




SOLSTICE |

M10%110 bolts and nputs

Member— & 90%2600
Code “AA10<"

A32 Connector-100°
Code “AA25”

Memher- d 90%3350 g i
Code “MI13<" 7 o A32 Connector-50° left
e Code “AA22” ||
A32 Connector-50° %
Code “AA21”7
Xy & ] <
Member- & 9042500 %4 AN Venber— 90667
P , A Code “AAIL<"
Code “AA09< S
<
A32 Connector-b0° right
Member- & 90%2600 w - AT
Code “AA10<" § oae
% A32 Edge connector-100°
— * |
Member- ¢ 90%1995 g Code “126"

Code “AAOT<"

LLUNIR-

Frame installation
GLAMPING




SOLSTICE |

ol

R f

2 Eam

lﬂv

Frame installation

/A
é;_ . Bm

700 )

Member- ¢ 90%2400
Code “AA0OS<"

A32 Edge connector-100°

N
%ﬁ,( S|

ilfl[@ §

QoY
N4
X

// _
’ i
] &

J&

=

Code “AA26”

Member— ¢ 90%1995
Code “AAOT<"

6" ( E=0m

/o

M10%110 bolts and

£S

Connection diagram

Member— ¢ 902400

Code “AAOS<"

A32 Connector-100°
Code “AA25”

g $90 cover plate
¢90 cover Q‘? :

/o)
é (I

@ CIm
W

N Member- 9043350

Code “AA13<"

A32 Connector-50°

Code “AA21”
$90 cover plafe

% _ Eom

LLUNIR-

GLAMPING




SOLSTICE |

Ve

N

@

Au

Frame installation

Member- ¢ 90%800-up
Code “AAO2—"

Member— ¢ 90%800-bLow

Code “AAO3<"
Member ¢ 90%1800-up

Member— ¢ 90%800-b1ow

Member- ¢ 70690
Code “AAOT<"

\y

\

//N\
'-'A'lﬂ‘l-\%\

(E 5
.
X

Code “AAO4<"
Member— ¢ 90%1800-blow

(. B0

Code “AAOH—"

Code “AA03<"

Member- & 90%800-up
Code “AAO2—"

Member— ¢ 90%1800-blow
Code “AA0H—"

Member—- ¢ 90%1800-up
Code “AA04<"

LLUNIMR-

GLAMPING




SOLSTICE |

(@)

ircle tube ¢16%2610, Install 4 places

(@]

ircle tube ¢ 16%1655, Install 4 places

. N
1nner™tarpu

\
\

20 plate

inner tarpaulin installation

—_———

B Installation details

plate—2440%20

Circular tube-916%2400

plate-2150%20

Self tapping screw fixation

Tensioner

?90 Menber

90

=

XN T~
RN /
N\
\
\
s
|

;
LA 5

S

Self tapping screw fixation

y ’/
/
S~ ,,j>§ @16 circle tub

D

A Installation details

LN

GLAMPING




SOLSTICE |

Hook screw \

tarpaulin installation

A4, -
I LIV

B Installation details

LN

GLAMPING




	A32-1.pdf
	A32-2.pdf
	A32-3.pdf
	A32-4.pdf
	A32-5.pdf
	A32-6.pdf
	A32-7.pdf
	A32-8.pdf
	A32-9.pdf
	A32-91.pdf
	A32-92.pdf
	A32-93.pdf

